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AP Calculus BC

Taylor’'s Theorem Practice

. Find the fourth degree Taylor polynomial, centered at ¢ = 2 for f(x) = x In x. Use the Taylor polynomial to
approximate f(2.1). Apply Taylor's Theorem o determine the maximum possible error associated with this

approximation. .
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2. Find the fifth degree Taylor polynomial, centered at c = 0 for f(x) = e?*. Use the Taylor polynomial to approximate
£(0.75). Apply Taylor's Theorem to determine the maximum possible error associated with this approximation.

f): ¢ - | $(o)= | ' Taylor's :
- de” ¥y 022416
=9 7(0)*8 won FO() > @ X8

M( as)= o4 o'

00w )

5) e (5)0___ ‘

T Ao e i |
3 X‘i )

Teos iR i ) 0TIl

_l’r?,y\+11+-'ix+ x+—-x5

Yo (015) = 4 el 11875




3. Find the third degree Taylor polynomial, centered at ¢ = O for f(x) = arctan(x). Use the Taylor polynomial to
approximate f(0.4). Apply Taylor's Theorem to determine the maximum possible error associated with this

approximation.
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4. Find the sixth degree Taylor polynomial, centered at ¢ = 1 for f(x) = i Use the Taylor polynomial to approximate
f(1.2). Apply Taylor’s Theorem to determine the maximum possible error associated with this approximation.
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